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a4 p 11-26V2 Y(4p untitled LA W untitled a4k untitled
1 AudioFilterBiquad bigquad1e; 1 AudigConnection patchCord3s{biqu 1
while- {1)-{ ?  AudioFilterBiguad biquad3is; ?  AudioConnection patchCord36{bigu 2 while {1} {
Serial.printin("Unable  to-access 1 . 3 AudioFiltersiquad biquads; 3 AudigConnection patchCord37{biqu 3 serial.printin{*unable to access th
delay{588]); 1 AudioFilterBiquad biquad26; 1 AudioConnection patchCord38{biqu 1 delay(568);
- 5 AudioFiltersiquad biquadla; 5 AudigConnection patchCord39{biqu 5
& AudioFilterBiquad bigquad1o; & AudigConnection patchCordae{biqu &
} AudioFilterBiquad biguadls; - AudioConnection patchCordal{blgu 1
i B AudioFilterBlquad biguadl3; B AudioConnection patchCordaz {blgu
FEEEEREEEIL AR g AudioFiltersiquad bigquadiz; g AudigConnection patchCorda3{biqu LTt
calibration{}; s/ 18 AudioFilterBiquad bilguad7; 18 AudioConnectlon patchCordaa{blgu calibration();/f
FELEREEEIT IR 11 AudioFiltersiquad biquad2a; 11 AudisConnection patchCordas {biquass FEEEI IR
delay{18e8); 12 AudioFiltersiquad biquadll; i 12 AudioConnection patchCordat{biqua delay{1ead) ;
digitalWrite{ledPin, - LOW); 13 AudioFilterBiquad biquads; E 13 AudioConnection patchCordd7 {biqua smg digitalwrite{ledPin, LOW); .
int- yesButtonStates=digitalfead{yesButt 14 AudioFiltersiquad biquadl6; 14 AudigConnection patchCordas{biqua’ - int yesButtonState=digitalfead{yesButton ©
Lnt-noButtonState=digitalRead{noButton 15 AudioFiltersiquad biquadé; - AudigConnection patchCordad{biqua int noButtonState=digitalRead{noButton);
numbe roT TesT5=8; 16 AudioFilteriquad biguad23; AudioConnection patchCordse{blqua number0{Tests=a;
FEEEETEEET ST ddds i didddiisissi 17 AudioMixera mixers; AudioConnect lon patchCords1{biqua FETEFETITESE T EETT LI dETdiddiddddditi
while{numberdfTests<d){ 15 AudioMixerd mixers; AudigConnection patchCords2{biqua while{numberofTests<d){
19 AudioMixers mixerld; AudigConnection patchCords3{biqua
digitalwWrite{ledPin, - LOW); 24 AudioMixers mixerd; AudioConnection patchCordss{bigua digitalwrite(ledPin, LOW);
int- 1=8; il AudioMixerd mixer7; AudigConnection patchCord5s{bigua int 1=8;
int- j=8; 22 Aud ioMixerd mixerd; AudioConnection patchCords6{biqua int j=8;
23 AudioMixera mixerl; AudigConnection patchCords7{biqua
chars: soundFiles [14] [9]={ 24 AudioMixerd mixers; AudigConnection patchCord5s({biqua chars soundFiles[14] [9]=(
{12580 wav", - “12518L. wav" , - “ 125281 25 Aud LoMixerd mixers; AudioConnection patchCords9{biqua {"1258L. wav", *12518L.wav", “12528L
125880, wav" , - “25818L. wav" , - “ 25820 26 Aud LoMixers mixerz; AudioConnection patchCorosa{biqua {“2588L. wav", “2S818L.wav", “25828L
1" 5808L. wav™ , - “SERLAL. wav" , - “SR026L 27 AudioMixerd mixerll; AudioConnection patchCord61{biqua {"5800L.wav", “S8910L.wav", “58826L
" 188BaL. wav™ , - 18SGLEL. wav" , - “ 188d - 28 AudioMixerd mixerl3; AudigConnection patchCord6z {bigua {*10888L. wav", “188818L.wav", “1888:
{"28808L. wav" , - ' 28881001 wav" , - " 288 29 AudioMixerd mixeriz; AudigConnection patchCord63{mixer {"20008L. wav", “208018L.wav", “2098;
" A8088L . wav* , - ' 488818L . wav™ , - 088 i i EL: AudLoMixers mixerld; AudioConnection patchCordéa {mixer {"40008L. wav", “488818L.wav", “4888:
1" 808881, wav" , - “SEGG10L. wav" , - “Baed . 31 Aud LoMixerd mixerls; AudigConnect ion patchCordss{mixer {“BoedaL. wav" , “BOB818L.wav", “Hoa8:
1" 12588, wav™ , - “ 125180 wav™ , - * 12528 W 32 AudioQutputis 1252; AudigConnection patchCoro6s (mixer 3z {12568, wav", “12518f.wav", “12528R
{25000, wav™ , - “ 250180 wav" , - *25820F b, 33 Aud LoPlaySdwav playSdwavl; AudioConnection patchCords7{mixer 33 {“ 25888, wav", “2S818R.wav", “25820R
{" 58888, wav" , - “SO8L8R. wav" , - "SOE2EF . 34 AudigConnection patchCord1{i2s1, AudigConnection patchCord6s{mixer 34 {“S000R. wav", “SOE18R.wav", “SH82eR
1" 18888R. wav", - “ 180G1ER. wav" , - " 1800  Aeee L AudioConnect ion patchCord2{i¥s1, AudioConnection patchCordsd{mixer 35 {10000/ wav" , “1880168R. wav", *1884:
{" 208808, wav" , - “28F10R. wav" , - 289 36 AudioConnect ion patchCord3(i¥s1, AudioConnection patchCordTe{mixer {“20000R. wav" , “200010R. wav" , “20842
1" A0880R. wav" , - “ JBG10R. wav" , - “ 480 37 Aud ioConnect lon patchCorda{i¥sy, AudigConnect ion patchCord7L{mixer {“aeaaR. wav" , “488818R. wav", 4888
{" Bo8edR. wav" , - “DERG10R. wav" , - “ 080 38 AudioConnection patchCord5{12s1, AudigConnection patchCord72{mixer {“Be808R. wav", “S08818R.wav", “BO84:
| 39 AudioConnection patchCord6(1i#s1, AudigConnection patchCord73{mixer H
48 AudioConnection patchCord7{1i2s1, AudisConnection patchCord7a{mixer
while{i==13){ 41 AudioConnection patchCords(izsy, AudigConnection patchCord7s {mixer a1 while{ie=13){
digitalwrite(ledPin, - LOW); e a2 AudigConnection patchCorda{izsy, ! AudigConnection patchCord76{mixer 42 digitalwrite{ledPin, LOW);
yesButtonState=digitalfead{yesButto 43 Aud ioConnect ion patchCordlefizs1, 83 AudioConnection patchCord9z{plays 43 yesButtonState=digitalRead|yesButton
noButtonstate=digitalRead{noButton] .7 44  AudioConnection patchCordl1{i2s1, 44  AudioConnection patchCordd3{plays a4 noButtonstate=digitalfead (noButton);
1=8; "E— 45 AudioConnection patchCordl2{i2s1, 45 AudioConnection patchCord 77 {mixer 45 j=h;
while{]<=8]{ 45 AudioConnection patchCord13{i2s1, 45 AudioConnection patchCord78{mixer 45 while{je=8){
digitalwrite{ledPin, - LOW); [ —_— a7 AudioConnect ion patchCordla{ids1, 47 Aud ioCont roLSGTLS 888 SgtlSeas_1; 47 digitalwrite{ledPin, LOW);
if{i==f- &k&- j==B){ P 48 Aud ioConnect lon patchCordl5{izs1, 48 ff GUItgol: end automatically generated c 48 if{i=—f & j==8){
digitalWrite{ledPin, - HIGH); e 99 AudioConnection patchCord16{i2s1, 13 49 digitalwWrite(ledPin, HIGH);
originalResultsiett [number(fTes S==msrs=s 53 AudioConnection 1 53 const int myInput = AUDIO_IMPUT_LIMEIN; 53 originalResultsieft [numberdfTest
1445 — 51 AudioConnection 51 51 [
1=8; 52 AudioConnect ion 52 void setup(} { 52 J=8;
I 53 AudLoConnect Lon patchCord2e{i2s1, 53 Serial. begin{o684); 53 ¥
54 Aud LoConnect Lon patchCord21{i?s1, 54 pinMode (yesButton, INPUT); 54
Lf{i==T7- &k j==B]{ 55  AudioConnection patchCord22{i2s1, 55 pinMode{noButton, INPUT); 55 it{i=7 &k j==B){
digitalwrite{ledPin, - HIGH); 56 AudioConnection patchCord23{i2s1, 56 pinMode{ledPin, OUTPUT); 56 digitalwWrite(ledPin, HIGH):
T3 E 57 Aud ioConnection patchCord2ali#s], 57 57 b H
1=8; = 58 AudioConnect ion patchCord2s{biqua 58 58 J=8;
originalResultsRight [numberdfTe 59 AudioConnect ion patchCord26{biqua 59 ff Audio connections require memory to b 59 originalResultsRight [numberdfTes
I =] ] 69 AudioConnection patchCordz7 {biqua £2 ff detailed information, see the Memorys 2 }:
=] 61 AudioConnection patchCord2E{biqua Sgt15888_1.enable();
yesButtonstate=digitaliead{yesBut & 62 AudioConnection patchCordza{biqua yesButtonState=digitalRead{yesButt
noButtonState=digitalfead {noButto S 63 Aud LoConnection patchCord3g{biqua sgtlseed_1.volume{8.5); noButtonStates=digitalRead {noButton
=] AudioConnect Lon patchCord31{bigua AudloMemory(158) ;
playFile{soundFiles [1] []]); El Auwd loConnection patchCordiz{biqua SPT. setM0SI(7); playFile{soundFiles [1] [1]);
Serial.print{i); [ AudioConnection patchCord33{biqua SP1.setsSCK({14); serial.print{i);
serial.print{* “); = 67 AudioConnection patchCord3d{biqua it (1{SD.begin{18))){ Serial.print{* *});
serial.print{j); = Serial.orintiil:

Line 68, Column 25 Spaces: 2 C++
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mixer?.gain{2,mixGain{ result5eeL,
mixer?.gain{3,mixGain{ result5eeL,

mixers.gain{@,mixGain(result5eaL,

mixers.gain{1,mixGain{ result 1888l ,
mixers.gain{2,mixGain{ result 1868l ,
mixerd.gain{3,mixGain{ result1oa8L,

mixerd, gain{@,mixGain{ result288eL,
mixerd. gain{l,mixGain{ result2888L,
mixerd. gain{2,mixGain{ result2888L,
mixerd. gain{3,mixGain{result4888L,

mixerld.gain{@,mixGain{result4gddL, res g
mixerld.gain{l,mixGain{result4seal, res

¥

double mixGain{int d81, int dB2, double B -°
double mix = {{point=({dB2=dB1))./BW)+dB1
mix=pow{18, mix/28); —
mix = (mix—8.1276)/1.7754;
serial.println{mix);
return mix;

}

wold calibration(){ E
int yesButtonState=digit amead{mnuttc..
int noButtonState=digitalfead{noButton)

il

while{yesButtonState==1 & noButtonStat
yesButtonState=digitalRead{yesButton) ™
noButtonstate=digitalfead (noButton); |[S9eypgd

i _ " 2=
Serial.print{“Calibrating...”}; B YRR
Serial.print{“wn*}; T

Ei=E=E
sgt15888_L.volume(.9); =1y
playFile{*1234. wav"); IEEI:E;I

} delay({1088); IEEHW.‘
S:!Fli L. print{“wn"}; IHE'!&E

Serial.print{“Calibration complete.*);
digitalwrite{ledPin, HIGH);
¥

void playFile{charx filename) Ii‘EFT;IR%:i
HIEHEEE B

Serial.print{“Playing file: “}; [HIEHEERE]
Serial.println{filename) ; [HEHEER E]
BIEHEEE E‘i

£f 5tart playing the file. This EKE'.E"
£f run while the Tile plays.

playSdwavl. play{filename];

£f A briet delay for the library read Fk
delay(5);

ff Simply wait for the file to finish p
while (playSdwawvl.isPlaying{)) {
float wol = analogread{l);
vol = vol s 1824;
sgt15888_1.volume{vall;

L L L L L L L L L
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untitled ¥ 4pr untitled
Serial.print{*wn"); T g 1 froutputs left side results to the user
R R L E L L L LT —— 2 Serial.print{“Left side results: *);
if{yesButtonState==8 &5 noButtonSt o 3 for (int £ = @; 1 = 75 ++1){

digitalwrite({ledPin, HIGH];//abl s Serial.print(leftResultsFinalli]};

]
5 serial.print{®, “);

delay{1888); —
fiResults being recordedss - 6 1
11 1e=f) { = 7 ff5tores the values of the results to |]
originalResultsLeft [numberofTe e B resultlisi = leftResultsFinall[a];
¥ g result25el = leftResultsFinal[l];
18 result5@8L = leftResultsFinal[2];
else{ — 11 resultleédl = leftResultsFinal[3];
originalResultsRight [numbergfT M 12 result2e@8l = leftResultsFinall4];
F; e Se K resultagedl = leftResultsFinalls];
j=8; 14 resultiedsl = leftResultsFinall6];
fEH 15 Serial.print{“wn"};
k 16
FEFEETEE i rs i i rfeasiies 17
if({yesButtonState==1 && noButtonSt 18 ffutputs right side results to the use
digitalWrite({ledPin, HIGH); 19 Serial.print{“Right side results: “};
delay (18] ; 8 for {int 1 =@; 1 < 73 +=+1}{
J: 1 serial.print{rightResultsFinal [1]];
I Fir serial.print{®, “);
FEFEEE i rf e asfies Fi I
24 fi5tores the values of the results to pe
if{yesButtonState==8 & noButtonsSt 5 resultl2SR = rightResultsFinal[é];
digitalWrite(ledPin, HIGH); 26 result258f = rightResultsFinal[1l];
delay(1888) ; 27 result5@8R = rightResultsFinal[2];
1= 14; 28 resultl@@df = rightResultsFinall3];
j = 29 result2e88f = rightResultsFinal[a];
i H 38 resultdgdaf = rightResultsFinal[s];
FEFEEFEE T F AT E AT 31 result8é8eR = rightResultsFinall6];
if{j=0){ 32 serial.print{“wn");
digitalwWrite(ledPin, HIGH); 33 serial.print{“ywn");
fiResults being recordedss 34
11 1e=5){ 35
originalResultsLeft [numberdfTe 36 Serial.print{“TEST COMPLETE");
1 37 serial.print{“wn");
else{ 38
originalResultsRight [numberodT 39
48
L H 41 ffformat
j=a; 42 //bigaud. setBandpass(stage, center freq
T 43 biguadl.setBandpass(@, 125, 1215/28.9);
44 biquad2.setBandpass(@, 157.5, 157.5/36.5
if(1>=14){ 45 biguad3.setBandpass(8, 198.4, 198.4/45.9
j=0; a5 bigquadd.setBandpass(@, 258, 258/57.9);
k 47
i delay{1848); 48 biquadS.setBandpass(8, 315, 315/73);

}: 49 biguadé.setBandpass(@, 396.9, 396.9/88.8
ki 58 biguad?.setBandpass(@, 588, 588/115.8);
numbe rofTests=numbe rif TesTs+1; 51 biquads.setBandpass (@, 638, 638,145.9);
Serial.print{numberdfTests]; 52

¥: 53 biquadd. setBandpass(@, 793.7, 793.7/183.

54 biguadld. setBandpass{@, 1888, 1888/231.8

55 biguadll.setBandpass{@, 1259.9, 1259.9/2

for {int 1 =8; 1 < 7; +i){ 56 biquadl?. setBandpass{@, 1587.4, 1587.4/3
leftResultsFinal[i]={originalResultsle 57

originalResultsieft[2] [1]+originalResu 58 biquadl3. setBandpass{@, 2888, 2888/4563.1

59 biquadls. setBandpass{@, 2519.8, 2519.8/5

ffleftResultsFinal[i] =leftResultsFina it biquadls.setBandpass{@, 3174.8, 3174.8/7

61 biguadlé. setBandpass{@, 4888, 4888/926.2

rightResultsFinal[i]={originalResultsh biquadl7.setBandpass(@, 5839.7, 5839.7/1

originalResultsRight[2] [1]+originalRes biguadl8. setBandpass{@, 6349.6, 6349.6/1

frrightResultsFinal [i]=rightResultsFir

biguadl9d. setBandpass(@,

Saga, Ba88/1852.

FEEEEEE TR Efres

biguad2e. setBandpass(a,

125, 125/28.9);

G

igé;'

i/ = el
T

29
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untitled

biquad2l.setBandpass{@, 157.5, 157.5/36.5) BEEN0
biquad22. setBandpass (8, 198.4, 198.4/45. EEEE
biquad23. setBandpass(@, 258, 258/57.9); L
biguad24. setBandpass(@, 315, 315/73); !

biquad2s. setBandpass(@, 396.9, 396.9/88
biquad26. setBandpass (@, 588, 588/115.8);
biquad2?. setBandpass(@, 638, 638/145.9);
biquad28. setBandpass (@, 793.7, 793.7/183

biquad29. setBandpass (@,
biquad3a. setBandpass(@, 1259.9, 1259.9/
biquad3l. setBandpass(@, 1587.4, 1587.4/
biquad32. setBandpass(8, 2888, 2884/463.1"

laga, 18e98,231.

biquad33. setBandpass(@, 2519.8, 2519.8/5
biquad34. setBandpass(@, 3174.8, 3174.8/7
biguad3s. setBandpass(@, 4888, 4888,926.2
biquad36. setBandpass(@, 5839.7, 5839.7/1

biquad37. setBandpass(@, 6349.6, 6349.6/1
biquad3s. setBandpass (@, Bé88, 5884,/1852.
¥

unsigned long last_time = millis();

vold Lloop{)d{

sgtlse8a_1. inputselect{myInput);

if (millis() = last_time »= 2584) {
serial.print{"Proc = *};
Serial.print{AudioProcessortsage());
serial.print{* {*);
Serial.print{AudioProcessoriisageMax())
Serial.print{®}), Mem = “);
Serial.print{AudioMemoryUsage() );
Serial.print{" (");
Serial.print{AudioMemorylisageMax(});
Serial.printin{*])*);
last_time = millis(});

¥

fimixGain{int dB1, int dB2, double BW, o
mixerl.gain{@,mixGain{@, resultl2sL, 125
mixerl.gain{1l,mixGain{resultl25L, result
mixerl.gain{2,mixGain{resultl25L, result
mixerl.gain{3,mixGain{®, result2SeL, 125

result
result
result
result

mixer2.gain{@,mixGain{result256L,
mixer2.gain{l,mixGain{result256L,
mixerz.gain{2,mixGain{result256L,
mixerz.gain{3,mixGain{resultSeeL,

result
result
resul
resul

mixer3.gain{@,mixGain{resultSeeL,
mixerd.gain{l, mixGain{resultSeeL,
mixer3.gain{2,mixGain{result 18,
mixer3.gain{3,mixGain{resultleee.,

resul

-

mixerd.gain{@,mixGain{result 18l ,
mixerd.gain{l, mixGain{result2ee8L,
mixerd.gain{2,mixGain{result2e68L,
mixerd.gain{3, mixGain{result2ee8L,

mixers.gain{@, mixGain{resultasaal,
mixerS.gain{l, mixGain{resultdaeaL,
mixerS.gain{2, mixGain{resultaaeaL,

resul
resul
resul

resul
resul
resul

FEEFEEEEEFEEEEF T EEF T EdETEEEdEddisisi
mixerS.gain{3,mixGain{@, resultl2sr, 125

Line 68, Column 1

Spaces: 2
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573
574
575
576
577
578
579
5808
381
582
583
584
585
586
587
588
589
598
591

void playFile(charx filename)

{

}

Serial.print("Playing file: "};
Serial.printin{filename);

ff Start playing the file.
£f run while the file plays.

playSdWavl.play(filename);

£ A brief delay for the library read WAV info
delay(5);

This sketch continues to

£/ Simply wait for the file to finish playing.
while (playSdWavl.isPlaying(}) {

}

float vol = analogRead(1);
vol = vol / 1824;
sgt15888_1.volume({vol);



553 wvoid calibration{}{

554 int yesButtonState=digitalRead(yesButton);
555 int noButtonState=digitalRead(noButton);
556

557 while(yesButtonState==1 && noButtonState==1){
558 yesButtonState=digitalRead({yesButton);
559 noButtonState=digitalRead (noButton);

568

561 Serial.print("Calibrating..."};

562 Serial.print({"yn"};

563

564 sgt15888_1.volume(.9);

565 playFile("1234.WAV");

566 delay(1008) ;

567 };

568 Serial.print({"yn"};

569 Serial.print{"Calibration complete."};

578 digitalWrite(ledPin, HIGH);

571 }



520 double mixGain(int dBl, int dB2, double BW, double point}{
521

522 J/fCalculating dB loss based on linear relationship
523 double mix = ((point#(dB2-dB1))/BwW)+dB1;
524

525 JKneepoints

526 if(mix==10 && mix==0){

527 mix=mix-20;

528 ¥

529 if(min<=20 && mix>=18){

538 mix=mixn—28;

531 ¥

532 if(min<=38 && mix>28){

533 mix=mix;

534 ¥

535 if(mix<=40 && mix=308){

536 mix=mix-2.5;

537 ¥

538 if(mixe=50 && mix>=48){

539 mix=mix-10;

540 ¥

541 if(mix==70 && mix>=508){

542 mix=min-25;

543 ¥

544

545 mix=

546 JSfConverion from dB to mixer coefficient
547 mix=0.46374pow(2.71828, mix#@.1277);
548 Serial.printin{mix);

549 return mix;

558 delay(2000) ;

551 }
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a4 p 11-26V2 Y(4p untitled LA W untitled a4k untitled
1 AudioFilterBiquad bigquad1e; 1 AudigConnection patchCord3s{biqu 1
while- {1)-{ ?  AudioFilterBiguad biquad3is; ?  AudioConnection patchCord36{bigu 2 while {1} {
Serial.printin("Unable  to-access 1 . 3 AudioFiltersiquad biquads; 3 AudigConnection patchCord37{biqu 3 serial.printin{*unable to access th
delay{588]); 1 AudioFilterBiquad biquad26; 1 AudioConnection patchCord38{biqu 1 delay(568);
- 5 AudioFiltersiquad biquadla; 5 AudigConnection patchCord39{biqu 5
& AudioFilterBiquad bigquad1o; & AudigConnection patchCordae{biqu &
} AudioFilterBiquad biguadls; - AudioConnection patchCordal{blgu 1
i B AudioFilterBlquad biguadl3; B AudioConnection patchCordaz {blgu
FEEEEREEEIL AR g AudioFiltersiquad bigquadiz; g AudigConnection patchCorda3{biqu LTt
calibration{}; s/ 18 AudioFilterBiquad bilguad7; 18 AudioConnectlon patchCordaa{blgu calibration();/f
FELEREEEIT IR 11 AudioFiltersiquad biquad2a; 11 AudisConnection patchCordas {biquass FEEEI IR
delay{18e8); 12 AudioFiltersiquad biquadll; i 12 AudioConnection patchCordat{biqua delay{1ead) ;
digitalWrite{ledPin, - LOW); 13 AudioFilterBiquad biquads; E 13 AudioConnection patchCordd7 {biqua smg digitalwrite{ledPin, LOW); .
int- yesButtonStates=digitalfead{yesButt 14 AudioFiltersiquad biquadl6; 14 AudigConnection patchCordas{biqua’ - int yesButtonState=digitalfead{yesButton ©
Lnt-noButtonState=digitalRead{noButton 15 AudioFiltersiquad biquadé; - AudigConnection patchCordad{biqua int noButtonState=digitalRead{noButton);
numbe roT TesT5=8; 16 AudioFilteriquad biguad23; AudioConnection patchCordse{blqua number0{Tests=a;
FEEEETEEET ST ddds i didddiisissi 17 AudioMixera mixers; AudioConnect lon patchCords1{biqua FETEFETITESE T EETT LI dETdiddiddddditi
while{numberdfTests<d){ 15 AudioMixerd mixers; AudigConnection patchCords2{biqua while{numberofTests<d){
19 AudioMixers mixerld; AudigConnection patchCords3{biqua
digitalwWrite{ledPin, - LOW); 24 AudioMixers mixerd; AudioConnection patchCordss{bigua digitalwrite(ledPin, LOW);
int- 1=8; il AudioMixerd mixer7; AudigConnection patchCord5s{bigua int 1=8;
int- j=8; 22 Aud ioMixerd mixerd; AudioConnection patchCords6{biqua int j=8;
23 AudioMixera mixerl; AudigConnection patchCords7{biqua
chars: soundFiles [14] [9]={ 24 AudioMixerd mixers; AudigConnection patchCord5s({biqua chars soundFiles[14] [9]=(
{12580 wav", - “12518L. wav" , - “ 125281 25 Aud LoMixerd mixers; AudioConnection patchCords9{biqua {"1258L. wav", *12518L.wav", “12528L
125880, wav" , - “25818L. wav" , - “ 25820 26 Aud LoMixers mixerz; AudioConnection patchCorosa{biqua {“2588L. wav", “2S818L.wav", “25828L
1" 5808L. wav™ , - “SERLAL. wav" , - “SR026L 27 AudioMixerd mixerll; AudioConnection patchCord61{biqua {"5800L.wav", “S8910L.wav", “58826L
" 188BaL. wav™ , - 18SGLEL. wav" , - “ 188d - 28 AudioMixerd mixerl3; AudigConnection patchCord6z {bigua {*10888L. wav", “188818L.wav", “1888:
{"28808L. wav" , - ' 28881001 wav" , - " 288 29 AudioMixerd mixeriz; AudigConnection patchCord63{mixer {"20008L. wav", “208018L.wav", “2098;
" A8088L . wav* , - ' 488818L . wav™ , - 088 i i EL: AudLoMixers mixerld; AudioConnection patchCordéa {mixer {"40008L. wav", “488818L.wav", “4888:
1" 808881, wav" , - “SEGG10L. wav" , - “Baed . 31 Aud LoMixerd mixerls; AudigConnect ion patchCordss{mixer {“BoedaL. wav" , “BOB818L.wav", “Hoa8:
1" 12588, wav™ , - “ 125180 wav™ , - * 12528 W 32 AudioQutputis 1252; AudigConnection patchCoro6s (mixer 3z {12568, wav", “12518f.wav", “12528R
{25000, wav™ , - “ 250180 wav" , - *25820F b, 33 Aud LoPlaySdwav playSdwavl; AudioConnection patchCords7{mixer 33 {“ 25888, wav", “2S818R.wav", “25820R
{" 58888, wav" , - “SO8L8R. wav" , - "SOE2EF . 34 AudigConnection patchCord1{i2s1, AudigConnection patchCord6s{mixer 34 {“S000R. wav", “SOE18R.wav", “SH82eR
1" 18888R. wav", - “ 180G1ER. wav" , - " 1800  Aeee L AudioConnect ion patchCord2{i¥s1, AudioConnection patchCordsd{mixer 35 {10000/ wav" , “1880168R. wav", *1884:
{" 208808, wav" , - “28F10R. wav" , - 289 36 AudioConnect ion patchCord3(i¥s1, AudioConnection patchCordTe{mixer {“20000R. wav" , “200010R. wav" , “20842
1" A0880R. wav" , - “ JBG10R. wav" , - “ 480 37 Aud ioConnect lon patchCorda{i¥sy, AudigConnect ion patchCord7L{mixer {“aeaaR. wav" , “488818R. wav", 4888
{" Bo8edR. wav" , - “DERG10R. wav" , - “ 080 38 AudioConnection patchCord5{12s1, AudigConnection patchCord72{mixer {“Be808R. wav", “S08818R.wav", “BO84:
| 39 AudioConnection patchCord6(1i#s1, AudigConnection patchCord73{mixer H
48 AudioConnection patchCord7{1i2s1, AudisConnection patchCord7a{mixer
while{i==13){ 41 AudioConnection patchCords(izsy, AudigConnection patchCord7s {mixer a1 while{ie=13){
digitalwrite(ledPin, - LOW); e a2 AudigConnection patchCorda{izsy, ! AudigConnection patchCord76{mixer 42 digitalwrite{ledPin, LOW);
yesButtonState=digitalfead{yesButto 43 Aud ioConnect ion patchCordlefizs1, 83 AudioConnection patchCord9z{plays 43 yesButtonState=digitalRead|yesButton
noButtonstate=digitalRead{noButton] .7 44  AudioConnection patchCordl1{i2s1, 44  AudioConnection patchCordd3{plays a4 noButtonstate=digitalfead (noButton);
1=8; "E— 45 AudioConnection patchCordl2{i2s1, 45 AudioConnection patchCord 77 {mixer 45 j=h;
while{]<=8]{ 45 AudioConnection patchCord13{i2s1, 45 AudioConnection patchCord78{mixer 45 while{je=8){
digitalwrite{ledPin, - LOW); [ —_— a7 AudioConnect ion patchCordla{ids1, 47 Aud ioCont roLSGTLS 888 SgtlSeas_1; 47 digitalwrite{ledPin, LOW);
if{i==f- &k&- j==B){ P 48 Aud ioConnect lon patchCordl5{izs1, 48 ff GUItgol: end automatically generated c 48 if{i=—f & j==8){
digitalWrite{ledPin, - HIGH); e 99 AudioConnection patchCord16{i2s1, 13 49 digitalwWrite(ledPin, HIGH);
originalResultsiett [number(fTes S==msrs=s 53 AudioConnection 1 53 const int myInput = AUDIO_IMPUT_LIMEIN; 53 originalResultsieft [numberdfTest
1445 — 51 AudioConnection 51 51 [
1=8; 52 AudioConnect ion 52 void setup(} { 52 J=8;
I 53 AudLoConnect Lon patchCord2e{i2s1, 53 Serial. begin{o684); 53 ¥
54 Aud LoConnect Lon patchCord21{i?s1, 54 pinMode (yesButton, INPUT); 54
Lf{i==T7- &k j==B]{ 55  AudioConnection patchCord22{i2s1, 55 pinMode{noButton, INPUT); 55 it{i=7 &k j==B){
digitalwrite{ledPin, - HIGH); 56 AudioConnection patchCord23{i2s1, 56 pinMode{ledPin, OUTPUT); 56 digitalwWrite(ledPin, HIGH):
T3 E 57 Aud ioConnection patchCord2ali#s], 57 57 b H
1=8; = 58 AudioConnect ion patchCord2s{biqua 58 58 J=8;
originalResultsRight [numberdfTe 59 AudioConnect ion patchCord26{biqua 59 ff Audio connections require memory to b 59 originalResultsRight [numberdfTes
I =] ] 69 AudioConnection patchCordz7 {biqua £2 ff detailed information, see the Memorys 2 }:
=] 61 AudioConnection patchCord2E{biqua Sgt15888_1.enable();
yesButtonstate=digitaliead{yesBut & 62 AudioConnection patchCordza{biqua yesButtonState=digitalRead{yesButt
noButtonState=digitalfead {noButto S 63 Aud LoConnection patchCord3g{biqua sgtlseed_1.volume{8.5); noButtonStates=digitalRead {noButton
=] AudioConnect Lon patchCord31{bigua AudloMemory(158) ;
playFile{soundFiles [1] []]); El Auwd loConnection patchCordiz{biqua SPT. setM0SI(7); playFile{soundFiles [1] [1]);
Serial.print{i); [ AudioConnection patchCord33{biqua SP1.setsSCK({14); serial.print{i);
serial.print{* “); = 67 AudioConnection patchCord3d{biqua it (1{SD.begin{18))){ Serial.print{* *});
serial.print{j); = Serial.orintiil:

Line 68, Column 25 Spaces: 2 C++
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mixer?.gain{2,mixGain{ result5eeL,
mixer?.gain{3,mixGain{ result5eeL,

mixers.gain{@,mixGain(result5eaL,

mixers.gain{1,mixGain{ result 1888l ,
mixers.gain{2,mixGain{ result 1868l ,
mixerd.gain{3,mixGain{ result1oa8L,

mixerd, gain{@,mixGain{ result288eL,
mixerd. gain{l,mixGain{ result2888L,
mixerd. gain{2,mixGain{ result2888L,
mixerd. gain{3,mixGain{result4888L,

mixerld.gain{@,mixGain{result4gddL, res g
mixerld.gain{l,mixGain{result4seal, res

¥

double mixGain{int d81, int dB2, double B -°
double mix = {{point=({dB2=dB1))./BW)+dB1
mix=pow{18, mix/28); —
mix = (mix—8.1276)/1.7754;
serial.println{mix);
return mix;

}

wold calibration(){ E
int yesButtonState=digit amead{mnuttc..
int noButtonState=digitalfead{noButton)

il

while{yesButtonState==1 & noButtonStat
yesButtonState=digitalRead{yesButton) ™
noButtonstate=digitalfead (noButton); |[S9eypgd

i _ " 2=
Serial.print{“Calibrating...”}; B YRR
Serial.print{“wn*}; T

Ei=E=E
sgt15888_L.volume(.9); =1y
playFile{*1234. wav"); IEEI:E;I

} delay({1088); IEEHW.‘
S:!Fli L. print{“wn"}; IHE'!&E

Serial.print{“Calibration complete.*);
digitalwrite{ledPin, HIGH);
¥

void playFile{charx filename) Ii‘EFT;IR%:i
HIEHEEE B

Serial.print{“Playing file: “}; [HIEHEERE]
Serial.println{filename) ; [HEHEER E]
BIEHEEE E‘i

£f 5tart playing the file. This EKE'.E"
£f run while the Tile plays.

playSdwavl. play{filename];

£f A briet delay for the library read Fk
delay(5);

ff Simply wait for the file to finish p
while (playSdwawvl.isPlaying{)) {
float wol = analogread{l);
vol = vol s 1824;
sgt15888_1.volume{vall;

L L L L L L L L L
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549
51

uniitled

untitled ¥ 4pr untitled
Serial.print{*wn"); T g 1 froutputs left side results to the user
R R L E L L L LT —— 2 Serial.print{“Left side results: *);
if{yesButtonState==8 &5 noButtonSt o 3 for (int £ = @; 1 = 75 ++1){

digitalwrite({ledPin, HIGH];//abl s Serial.print(leftResultsFinalli]};

]
5 serial.print{®, “);

delay{1888); —
fiResults being recordedss - 6 1
11 1e=f) { = 7 ff5tores the values of the results to |]
originalResultsLeft [numberofTe e B resultlisi = leftResultsFinall[a];
¥ g result25el = leftResultsFinal[l];
18 result5@8L = leftResultsFinal[2];
else{ — 11 resultleédl = leftResultsFinal[3];
originalResultsRight [numbergfT M 12 result2e@8l = leftResultsFinall4];
F; e Se K resultagedl = leftResultsFinalls];
j=8; 14 resultiedsl = leftResultsFinall6];
fEH 15 Serial.print{“wn"};
k 16
FEFEETEE i rs i i rfeasiies 17
if({yesButtonState==1 && noButtonSt 18 ffutputs right side results to the use
digitalWrite({ledPin, HIGH); 19 Serial.print{“Right side results: “};
delay (18] ; 8 for {int 1 =@; 1 < 73 +=+1}{
J: 1 serial.print{rightResultsFinal [1]];
I Fir serial.print{®, “);
FEFEEE i rf e asfies Fi I
24 fi5tores the values of the results to pe
if{yesButtonState==8 & noButtonsSt 5 resultl2SR = rightResultsFinal[é];
digitalWrite(ledPin, HIGH); 26 result258f = rightResultsFinal[1l];
delay(1888) ; 27 result5@8R = rightResultsFinal[2];
1= 14; 28 resultl@@df = rightResultsFinall3];
j = 29 result2e88f = rightResultsFinal[a];
i H 38 resultdgdaf = rightResultsFinal[s];
FEFEEFEE T F AT E AT 31 result8é8eR = rightResultsFinall6];
if{j=0){ 32 serial.print{“wn");
digitalwWrite(ledPin, HIGH); 33 serial.print{“ywn");
fiResults being recordedss 34
11 1e=5){ 35
originalResultsLeft [numberdfTe 36 Serial.print{“TEST COMPLETE");
1 37 serial.print{“wn");
else{ 38
originalResultsRight [numberodT 39
48
L H 41 ffformat
j=a; 42 //bigaud. setBandpass(stage, center freq
T 43 biguadl.setBandpass(@, 125, 1215/28.9);
44 biquad2.setBandpass(@, 157.5, 157.5/36.5
if(1>=14){ 45 biguad3.setBandpass(8, 198.4, 198.4/45.9
j=0; a5 bigquadd.setBandpass(@, 258, 258/57.9);
k 47
i delay{1848); 48 biquadS.setBandpass(8, 315, 315/73);

}: 49 biguadé.setBandpass(@, 396.9, 396.9/88.8
ki 58 biguad?.setBandpass(@, 588, 588/115.8);
numbe rofTests=numbe rif TesTs+1; 51 biquads.setBandpass (@, 638, 638,145.9);
Serial.print{numberdfTests]; 52

¥: 53 biquadd. setBandpass(@, 793.7, 793.7/183.

54 biguadld. setBandpass{@, 1888, 1888/231.8

55 biguadll.setBandpass{@, 1259.9, 1259.9/2

for {int 1 =8; 1 < 7; +i){ 56 biquadl?. setBandpass{@, 1587.4, 1587.4/3
leftResultsFinal[i]={originalResultsle 57

originalResultsieft[2] [1]+originalResu 58 biquadl3. setBandpass{@, 2888, 2888/4563.1

59 biquadls. setBandpass{@, 2519.8, 2519.8/5

ffleftResultsFinal[i] =leftResultsFina it biquadls.setBandpass{@, 3174.8, 3174.8/7

61 biguadlé. setBandpass{@, 4888, 4888/926.2

rightResultsFinal[i]={originalResultsh biquadl7.setBandpass(@, 5839.7, 5839.7/1

originalResultsRight[2] [1]+originalRes biguadl8. setBandpass{@, 6349.6, 6349.6/1

frrightResultsFinal [i]=rightResultsFir

biguadl9d. setBandpass(@,

Saga, Ba88/1852.

FEEEEEE TR Efres

biguad2e. setBandpass(a,

125, 125/28.9);

G

igé;'

i/ = el
T

29
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68
61

untitled

biquad2l.setBandpass{@, 157.5, 157.5/36.5) BEEN0
biquad22. setBandpass (8, 198.4, 198.4/45. EEEE
biquad23. setBandpass(@, 258, 258/57.9); L
biguad24. setBandpass(@, 315, 315/73); !

biquad2s. setBandpass(@, 396.9, 396.9/88
biquad26. setBandpass (@, 588, 588/115.8);
biquad2?. setBandpass(@, 638, 638/145.9);
biquad28. setBandpass (@, 793.7, 793.7/183

biquad29. setBandpass (@,
biquad3a. setBandpass(@, 1259.9, 1259.9/
biquad3l. setBandpass(@, 1587.4, 1587.4/
biquad32. setBandpass(8, 2888, 2884/463.1"

laga, 18e98,231.

biquad33. setBandpass(@, 2519.8, 2519.8/5
biquad34. setBandpass(@, 3174.8, 3174.8/7
biguad3s. setBandpass(@, 4888, 4888,926.2
biquad36. setBandpass(@, 5839.7, 5839.7/1

biquad37. setBandpass(@, 6349.6, 6349.6/1
biquad3s. setBandpass (@, Bé88, 5884,/1852.
¥

unsigned long last_time = millis();

vold Lloop{)d{

sgtlse8a_1. inputselect{myInput);

if (millis() = last_time »= 2584) {
serial.print{"Proc = *};
Serial.print{AudioProcessortsage());
serial.print{* {*);
Serial.print{AudioProcessoriisageMax())
Serial.print{®}), Mem = “);
Serial.print{AudioMemoryUsage() );
Serial.print{" (");
Serial.print{AudioMemorylisageMax(});
Serial.printin{*])*);
last_time = millis(});

¥

fimixGain{int dB1, int dB2, double BW, o
mixerl.gain{@,mixGain{@, resultl2sL, 125
mixerl.gain{1l,mixGain{resultl25L, result
mixerl.gain{2,mixGain{resultl25L, result
mixerl.gain{3,mixGain{®, result2SeL, 125

result
result
result
result

mixer2.gain{@,mixGain{result256L,
mixer2.gain{l,mixGain{result256L,
mixerz.gain{2,mixGain{result256L,
mixerz.gain{3,mixGain{resultSeeL,

result
result
resul
resul

mixer3.gain{@,mixGain{resultSeeL,
mixerd.gain{l, mixGain{resultSeeL,
mixer3.gain{2,mixGain{result 18,
mixer3.gain{3,mixGain{resultleee.,

resul

-

mixerd.gain{@,mixGain{result 18l ,
mixerd.gain{l, mixGain{result2ee8L,
mixerd.gain{2,mixGain{result2e68L,
mixerd.gain{3, mixGain{result2ee8L,

mixers.gain{@, mixGain{resultasaal,
mixerS.gain{l, mixGain{resultdaeaL,
mixerS.gain{2, mixGain{resultaaeaL,

resul
resul
resul

resul
resul
resul

FEEFEEEEEFEEEEF T EEF T EdETEEEdEddisisi
mixerS.gain{3,mixGain{@, resultl2sr, 125

Line 68, Column 1
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1000 2000
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